b=8.2cm, c=5.1cm, A=70° .2 o U"M 9 VG us}@

a=?, B=?, C=? —

a’? = b?+ ¢? — 2bccosA ol e 2 2
—a?= 822+ 5.12— 2%82x5.1%cos70 A
- a? = 64.64 - a = V64.64 = 8.04m b
a=b_)8.04=8.2 c
sinA sinB sin70 sinB
- sinB = M = 0.9584 ¢
8.04 a
— B =sin~10.9584 = 73.41° 5
C=180—-(A+B)=180—- (70 + 73.41)
= 36.59° o i (y53l8
a b ¢
b=6m, c=4m, B=100°, B=120° .1 sinA  sinB  sinC
A=?, C=?,a=? <«
[A=38.96°, C=41.046°, a=3.83m] o wgians 505
a=10.0m, b=8.0m, c=7.0m .2 & a2 = b? + c? — 2bccosA

A=?, B=?, C=? « ; .
b = a“+ c“— 2accosB
[A=83.33°, B=52.62°, C=44.05°]

c?= a%*+ b%?— 2abcosC
PQ=4.0m, PR=10.0m, Q=120° .3 &

P=?, QR=? «—
b=?, c=?, C=? « a=3m, A=20°, B=120° 1 »
R

a b 3 b
= —) =
sinA sinB sin20 sin120

_ 3*xsin 120

- - =7.60m

Q sin 20

— C =180 — (20 + 120) = 40°

—
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— a C

— =

— sin A sinC
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—] a*sinC 3 *sin 40

- = = =5.64
P —e sin A sin 20 m

[P=39.73°, QR=7.38m]
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